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KBEES (F1-2)
BROKRIF17.8~18.7°C. 155>1£28.9~33.8TLT=, BIEFAZER (H25.3.19) LEEER L T, KE(E
2CHIR LR . ENIIABRDERDZETREMNETLTLVEL -,

BEERRERE (XI)
BRNORFEEREIL5.84~829me/IT. BIEIERIERETLT -,

TS50k (%K4-5)
BHEXAYDEZETHOPEL 41~70mTLT=,
BREOHR. BEEADERBVEELIELIBREEDHL7SF VLTIV EEcells/ml, B
HEOREILESIESRITEBREEDH DIV RIE2- ILITSHRE 1cel/mEERINELT -,

BOEBADKEICEIEOFLRERLCI-FFE, LEST=RYMRMUIZEBKERTFLT, AR
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1 KB (°C) —
) ) IS 4 AIEIFE & (H25.3.19)
FEE | ZRIA | EOE H54 | TR FLEB TN L a o | BIEIEDE| TS
Rl bR abd o
4 [a —Rif[Al
Om 18.4 18.1 17.9 17.8 18.1 16.4 1.7 18.3
2m 18.6 18.4 18.7 185 18.6 16.5 2.1 185
5m 18.2 184 18.6 185 18.4 16.5 1.9 185
10m 18.4 18.4 18.7 18.6 185 16.5 1.9 18.4
| B-1m 17.9 18.3 18.7 18.6 18.3 16.5 1.8 18.4
x2 155 _
) ) T 1S AIEIFE & (H25.3.19)
FEME | ZRIA | EOE H54  |TEIEFLEB TN L a o | BIEEDE| TS
Rl bR abd P
&
Om 315 30.6 30.7 28.9 30.9 329 A20 29.0
2m 32.7 325 33.0 32.7 32.7 335 A 07 325
5m 33.4 335 33.6 33.6 335 33.6 A 01 334
10m 33.6 33.6 33.7 33.7 33.7 33.6 0.0 33.7
| B-1m 33.6 33.7 33.8 33.8 33.7 33.7 A 00 33.7
3 j B (mg/1) _
i ) IS4 AIEIFE & (H25.3.19)
FEE | ZRIA | EOE H54 [T FLEB TN L a o | BIEIEDE| TS
L] b REabd P
&
Om 7.76 7.54 7.86 8.29 7.72 7.47 0.25 8.14
2m 7.65 6.86 7.55 8.17 7.35 7.27 0.08 8.05
5m 7.55 6.59 6.90 7.72 7.01 7.15 A 014 7.39
10m 7.22 6.69 7.25 7.44 7.05 7.11 A 005 6.82
B-1m 5.84 6.17 6.94 7.28 6.32 6.60 A 029 6.63
NEBRIAL-BEDE-TFVDFHE
&4 KREARE (m)
N . ) . ERAE g ar REHEENBEINIMERTE
FEH S | BER En p = =
=N ﬁ", /ng'f E.Io) B 7377 WLEJJ Fﬁi’ﬂl—ﬁ” @r5F Y L-TILA:
IKiE 16.8 241 14.2 15.7 12.3 100cells/ml (BEEL D E1L)
| B 4.2 4.1 7.0 4.9 28| |@UFRIE-LTS:
Bil o] B B 5.5 6.1 49 1.8 1.9 10cells/ml(H D FZE1L)
g5 TS0 (cells/ml)
rsgon. | 2urasse | FooFan | soneisa | R -
w21%;] LIS ARE VL SHEATR (RESL. RA
FEF+2R)
‘ Om 0 0 6 6 2 81
BRIA 2m 0 1 4 4 2 243
5m 1 1 5 0 2 294
Om 1 0 1 0 3 228
BEnE 2m 0 0 6 2 1 180
5m 0 0 1 1 0 207,
‘ Om 0 0 2 0 1 137
Hh39 2m 1 0 5 1 4 193
5m 0 0 0 2 1 80
R Om 0 0 1 0 2 206
# "*f,g?ﬂf 2 om 0 0 4 13 2 248
i 5m 0 0 9 3 2 174
Om 0 1 3 3 1 163
ikl 2m 1 0 2 4 2 242
5m 3 0 0 1 0 147




